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) " Roll No:- ' R
SEM-V Diploma Exam 2022.(0dd) x> - X
(Civil Enginecring) (Theory) - QP (Y
[Time: 3 Hours] Water Resources E Engmcermg (2015503) Y [Max. Marks:‘?O]

- All questions are compulsory. m’*ﬁ Uy %lﬁfffﬁ %’ X\ = \ 3
- Marks are mentioned on the nght snde of cach quesuon (W ?ﬂﬁ U4 %ﬁa’ré Gfl'\' a{%a ﬁ’“&%\)

Group(A) (g9 N
S o QN & o ®
Q.1  Choose the most sultable\answer from the follhwmg optlons ,.\‘.g \'.‘Q O (1*20 20)
aifs Suga ﬁmaﬁ-gﬁ Fc‘r@n D PV N\ S
C \. ,‘\.\Y‘ ,\\‘\ \ L
i. The earth’s water cueulatory system is known as ('Ejifﬁ Eﬁ oic] WW% U H \:ﬂlv‘ll SIGI %)
(a) water cycle N Mydrologlc cyc]e (o) reci pxtatlon cycle *» (d) all of the abovc\ Ny
ii.  Thedutyis laroest (@I‘ﬁ 'Haf-[ 331'%) . ' = > 3 3
(a) at the head of water course (qFﬁ 3? Earken ﬁ"R\tR) {rﬁt the head of a main canal HST :IBTa?HE'ﬁER)
(b) on the ﬁeld (EI'Q"FI ) o A )d same at all places (ﬁmﬁﬁma‘m? HﬂF‘D

ii. The water utilizable by plants is available in smls mainly i in the form. of N0 ‘
@ﬁmwmaﬂqﬂﬁww%ﬁrﬂ%ﬁwﬁmm%v) 3
(a) gmwty water " (b) cap:lla.ry water (')erdroscqplc water . > '(d) chemical water

) ap oS \\‘ \,

iv. ﬁﬁitranon is the @m %) Ly A\'v'

(a) movement of water through the soil > | -.‘I,"\ Wh (A ) and (B ) k
(ﬁsﬁ%mmﬁwﬁaﬁmﬂ@
(b) absorption of water by soil surface o (d) none of the abm@~

.;(ﬁ@‘q’:”mﬁam mmszﬂwr) (g—,memg Q)

V. A ramgauge should preferab]y be fixed (W au‘rmﬂ?ﬁ m ﬁ%ﬁﬂﬁ%mwam

).near the hulldmg %) (b) under the tree Sg)am"an open space (d) in a closed space
E?mmﬂ) j\;?' (ﬁgaf:ﬁa) Wﬁf'ﬁwﬁ) (T &5 97TE H)

\Horlzontal acceleratlon ‘due to earthquake results in (‘lﬁq P HRUT S TR qial 31
B Eil:il)

th (A)and (B) (A
(a) hydrodyna:hlc pressure. (E'IB@?:WT‘TW gdd) (eybo
(b) inertia force into the body of the dam (QTH% Qlilq ﬁ'\_ﬂgal d¢l) (d) none of the above (37-11:-'[ ﬁé ft :rg?[)

vii. As compared to gravnty dams earthen dams({lﬁm MY, ﬁq@ P qiY P GBI ﬁ)

costher ~ (c) require sound rock foundations
Sl . 3 (31 TETH fla 3t Tz #)
et fai (d) require less skilled labour
(b) are less suscept:b_le to failure S
(BT F Ui BH GaGANT gid) O (PH PG 4 B SMa<Ba Bl B)
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\ >
viii.  Basin flooding is a special form of(aﬁﬂ ¢ &1 U fa9y ¥q %)
(a) sprinkler irrigation method (c) furrow method of irrigation
(war Ri=rs fafin (foars ot i fafdy - R
/(jo) check flooding method _(d) none of the above - Q€ A
(A wafen fafd) tg:.s« (g'qg‘aa ﬁ-{ q-eﬁ) AV & Ay
ix.  The Soil becomes practically infertile when 1ts PH value is reduced \ v
('8 SHST PH HH &1 B Sl & a‘l’@rglwraemm@fmsrs’rm%) CT
(a) 6.5 (by7 B Q{)\ 9 ) 11 8 F\ (d) 2 0 \”
X "\‘ «"1 . ) DO {’.\
X.

If the depth of irrigation canal 1s,below the level of natural drain stream the type of cross dralnage \?ork is

(e RS TeX o1 TeRTE et v el e A TR a‘rm%ﬁamfmm%

) X
(a) Aqueduct jb)Superpassage & (c) Sluice gate AN (d) Level crossmg e
@PTSFR) N S A (éa?rﬁﬁm &
_ _e) AV & e SX Lo
Xi. Into how many components the diversion headwork is d1v1ded7 “\ q - , :,': Q\" ;
A ~
( 3 Iiﬁl D HT iIﬁﬁIEUITmT%'P) o N{‘S) '\\‘?\ “‘:"\ = A
»e SO A LS @7 S
_~ ;u\t\i / ‘\_'1 £ J?) \ )Y‘ o
xii.  Which devrce is used for srlt removal after it enters the canal‘7 ::' ‘Q a:??' /\f‘g\
Gﬁﬁuﬁ%mmﬁmﬁemmmﬁmﬁmw%ﬂ
(a) Silt Excluder Q Lb)Silt Ejector /_;O (¢) Weir rf"»’ (d) Barrage Q:)‘ '
A /-’;';% el , ‘V (aT?I) “N' & (EﬂTwl;GT) «,LC“:\
MEiEe & e & o © 0B
xiii. ‘The canal which is aligned along any ridge lme is generally known as S
ﬁﬁ@%@ﬂlﬂﬁmmﬁ%mumae’rcﬁ% Gﬁ&mmwmm%) o
(a) Levelled canal Contour canal o () Watershed canal (d) side slope canal
‘ S ) <5 ‘ &
N )c e / \)!\ -~ ¢ \
- Xiv Downward movcment of water through saturated or nearly saturated soil is........

mmmmmﬁ@%mmﬁqﬁﬁ%aﬁahwﬁ)........r-frf
(a) lnﬁltratron (ﬁsna) (b) Percolatlon (E'Clab_'l) (), Leachmg (Fﬂﬁﬂ'l) (b) Seepage (HIUW)

xv. A fall is constructed to; (U.$ Wmﬁqum %) "( v

(a) create surplus:energy ,ﬂ‘:g-l s K - Overcome surplus energy
T REIL IS 1Y S S A (mmm{mqm
(b)destroy the surplus energy | , y \;“ & (d) maintain surplus energy
NEIRE ke Waﬂ) &.:1.;_:'*- RE LN EEZE CRIEIG)
Ct ‘\ "’ v [ L.n
lled
XV " The storage of water below thé bottom of the lowest: sluice way in a reservoir is ca
(%%ﬁwmﬁmﬁaaaaménﬁ%faa%:ﬁ%m%wﬁwmﬁ%)
! d) usefull storage
dead storage A (b), Surcharge, torage (c) Live storage (
| uemn) (arfmrn utswrn D (TS SR (ITANT 1SR
xvii." The bed of canal is lowered in case of m A B TER & 9IS B HH 1 A1 7)
Az) syphon aqueduct oF(b). canal syphoxf (c) Level crossing (d) All of the above
(TR UBSdT) (He'\f Hl‘&'qv—*l) (GHUR) CRRESR:R)
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. hich of the r()”U\Vi“E seasons |Ia’~‘. lhc hl h > » > \ ‘ \—\
W > g est rate Of frc wat Vi D
( E i ﬁ C waler ¢ npomtlon N
wutumn (QI za:sil) (b) UU inter m

psumm @ @ spring @@ o
' ' b R N
XIX. A land is known as waterlogged (STl W9 @Wﬁﬁ %) \\tw o 5\ &
{ (23 When the mem'"‘-“t W'“lﬂg POlnt%;s reached (c) Capillary frmée reaches the root zor;; of plants ’
(V8 R TR b 3T et Ugdar
/(,l-r)‘ When gravity dramagc has ccased a'T\_:ﬁ;' éﬁﬁﬁ %)

: (d) None of the ab
| (Wmmﬁm@ﬁmanﬁa (m%f';%‘;ﬁ%"

| xx.  Which of the following spillways is least suitable for an carthen dam? N-;f\“i;k - N
(Fafifea d g oA m?ﬁm& atamﬁﬁwaﬁaqaugaa%m 3 >

\ 4 <" 5\ »
(a) Ogee spillway ) Syphon spillway  (c) Side channel s ] - -
3ol fyey pillway ! (d) Shaft spillway
( ’ CREIRTD @S (e e
O ® » A ‘ ! i ;'{}
_ ‘ , Group (B) (‘J‘T iﬂ) oY \-\j’J\ ¢
Q.2 Explain Hydrology cycle with neat sketgh’ < &, N ¥ D
T wﬁa ﬁﬂ%’m%mm 2 &8N
3 > OR (3@ > SN
Define the followmg tenns prec1p1tat10n Evapo transplrauon \;35 ‘ e 4
S ,\b N e 3 el q\(\ ' R .\ﬁd“”
Q3 What are the advantages of well irrigation. ol ' : & 4
‘@qﬁmaﬂﬁ$wm€% 7. <
) - TorREmEm o
Explain the need of drip u‘rlgatnon < N XN NS 4
GRED ﬁﬁné Bl HATHI B THRIEY)
Q4 ‘Mentlon the various types of forces acting ona gravity: dam X N \.;"; 4
Wuwﬁmﬁmﬁﬁ%w%aﬁhmmﬁmn
| ' OR (3yam) o
Explam in brief the vanous types of failure of earthen dams 4
R @@%m&hﬁﬁm%ﬁmmﬁwﬁmﬁm)
QS Explam factors aff‘eetmg duty 4
| @ﬁﬁuu@amﬁa@mmaﬂwﬁm |
: o “OR (G{WI)
N ~Explaln \mltmg pomt and pcrmanent wﬂtmg point o 4
3R =yrdt H?%Iﬁ & ﬁgaﬁ WEE )
Q.6 Wnte the differences between weir and barrage. 4
(a‘hn ahﬁmrﬁata?f%r@m) o
S OR(31Ydn .
What is the functlon of an outlet and where it is provided? Write in brief.
@mmmﬁw% a?ﬁuewuaﬂﬁsmm%’v a ¥ fafam)
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Group (C) (acr d’b }

Q.7 Explain with sketch non-automatic type of rain gauge o

\ . L0 ‘(
(SRR Yo & auremeht avﬁﬁxﬂr%awml) o .
N KSE 5
<OR (am'at) B ﬁ,,3~ &

Explain Isohyetal method for computing.average rainfall over basin ot y? 6
@mﬁmwaﬂmemm mﬂsm) e g

Q _‘l‘r ’ ) (e

Q.8 Draw typical cross section of an earthen dam; Also explaln 1ts varlous components « < ‘ s':ib6 .
W%mummmmwlmﬁmﬂmﬁlﬁmm e
SO or@mmy o o5 Caloo o
What is a sp1llway and what are its functlon and'énumerate various types of sptllWay Q 6
R 7 g ok mmw%atﬂmeaﬁamwmmj S
‘ S A Qv
4 ‘\ AL A o~
Q.9 What is canal lmmg ? Explam the necesslt‘y and types of canal Ilmng :‘“i} , Q) ,\jf,:h) 6 -~

(TERSHER T %’? e aﬁ'ﬁﬂ aﬂa&fqaa—cn qauam‘r ﬁ ST aw“rﬁm) o ESRRS

O \ \o ,-.‘)‘

: OR (a{zﬁm o 3 NS
What is a canal fall and why it is necessary.?’ mention various types of canal falls <3 6
mmwemu@wmaeﬁmmammmmmo
31. .\? o~ - ‘,\-1: / ".“ Q _,\ ' :“ v

Q.10 Estabhsh the relat:on between Duty and Delta A crop requlre a total depth of 90cm of water for 6
“a base period of 120-days. Find-the duty of water fff“l

(eaﬁmem%ﬁawuwﬁaﬁlwwaﬁ1zoﬁ#laﬁaﬂmeﬁf€rasﬁm@—cf9o
mwﬁmﬁwﬁélmﬁme@ammu

A%) OR (31YdT) - ;~
Deﬁne the: followmg 1) Gross command area (GCA) u) culturable command area (CCA) iii) 6
Intensnty of irrigation.
ﬁq&uﬁaaﬁ i) WW e (GCA) n) @?ﬁtfmrme &3 (CCA) iii) Ri=ms
aﬁ%ﬁaaﬂ) .’ o K
Q 11 N Descrlbe necess1ty and 1mportance of percolatlon tank 6
(&mwhaﬁamuwuanec—dm aﬁﬁml)
27 OR (ama'r)
Descnb e §) rmkler 1rr1gat1on method. & 6

ﬁmmavha;“rl?ﬂm)

A T kdokkok

,_':_)
4
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